2021-2022 University Campus Tuition & Fees Undergraduate

Direct Costs for Students Living on Campus (Full-time*)	Per Semester	Per Year
Tuition**	\$11,995	\$23,990
Average Room (See Residence Hall Room Rates)	\$4,200	\$8,400
Meal Plan (Unlimited)	\$2,950	\$5,900
Fees (Orientation, Success, Technology, Health & Student Activity)	\$1,030	\$2,060
Total Direct Cost	\$20,175	\$40,350

^{*}Full time refers to 12-18 credit hours per semester.

¹⁹ or more credit hours per semester (excluding 3+1 students) = \$330.00 per credit hour

Indirect Costs* for Students Living on Campus	Per Semester	Per Year
Books	\$396	\$792
Personal	\$938	\$1,876
Transportation	\$450	\$900
Total Cost of Attendance (Direct & Indirect)	\$21,959	\$43,918

^{*}The indirect costs listed here are estimated average expenses; actual costs will vary from student to student.

Meal Plans	Per Semester	Per Year
Unlimited Meal Plan	\$2,950	\$5,900
10 Meal Plan	\$1,965	\$3,930
5 Meal Plan	\$985	\$1,970
Commuter Meal Plan (Block of 10 meals)	\$125	\$250

All resident students are required* to be on one of the following meal plans.

- Residence halls (excluding 1-4) are required to be on the unlimited plan.
- Apartment buildings 1-4 can choose from the 5, 10 or unlimited plan.
- Students residing at East Campus (located 4 miles from University Campus) can choose from the 5, 10, unlimited, or no meal plan.

Additional Fees (If Applicable)	Per Year
Student Health Insurance*	\$1,757
Parking Decal (Resident Student)	\$60
Parking Decal (Non-Resident Student)	\$30
Student Success Fee	\$290
Technology Fee	\$390
Student Activity Fee	\$490
Orientation Fee (New Students Only) \$250 for Spring Start	\$500
Health Fee	\$390

^{*}May be waived with appropriate proof of family or individual health insurance.

^{**}Tuition may increase annually

¹⁻¹¹ credit hours per semester = \$620.00 per credit hour

^{*}Requirements:

Residence Hall Room Rates	Per Semester	Per Year
Alumni Double	\$3,500	\$7,000
Alumni Double Single	\$5,250	\$10,500
Snyder Garden Level Triple	\$3,200	\$6,400
Benoit/Henderson Room	\$3,200	\$6,400
Benoit/Henderson Double Single	\$4,800	\$9,600
Benoit/Henderson Physical Single	\$3,840	\$7,680
Benoit/Henderson Triple	\$3,100	\$6,200
Henderson Quad Room	\$3,200	\$6,400
East Campus Apartments Double Single	\$7,275	\$14,550
East Campus Apartments	\$4,850	\$9,700
Roderick Physical Single	\$3,800	\$7,600
Marmion/Snyder Room	\$3,200	\$6,400
Marmion/Snyder Double Single	\$4,800	\$9,600
Snyder Garden Level	\$3,500	\$7,000
Marmion Physical Single	\$3,800	\$7,600
Apartment 1-4 Single with Kitchen	\$5,230	\$10,460
Apartment 1-2 Hallway Double with Kitchenette	\$3,500	\$7,000
Apartment 1-2 Single with Kitchenette	\$4,350	\$8,700
Apartment 1-2 Double Room with Kitchen	\$4,850	\$9,700
Apartment 1-2 Hallway Double Single with Kitchenette	\$6,000	\$12,000
Apartment 1-2 Double Room with Kitchenette	\$4,000	\$8,000
Buildings 5 & 6 Single	\$3,970	\$7,940
Buildings 5 & 6 Apt. Double Single	\$5,550	\$11,100
Buildings 5 & 6 Apt. Double	\$3,700	\$7,400
Villa	\$3,200	\$6,400
Sweetwater 1 bedroom	\$5,600	\$11,200
Sweetwater 2 bedroom	\$5,400	\$10,800
Sweetwater 3 bedroom	\$5,230	\$10,460
Vacation Housing & Food (Christmas Break/Summer)	\$725	n/a

\$235
\$235
\$125
\$65
\$25
\$10
\$15
\$32
\$500
\$300
\$80
Max by state
Max by state
\$30
\$125

*May be waived by following opt-out procedures.

Cost of Attendance*

New Undergraduate - Per Year	On Campus	Off Campus
Tuition (12-18 Credits)	\$23,990	\$23,990
Fees (Orientation, Success, Technology, Health & Student Activity)	\$2,060	\$2,060
Books	\$792	\$792
Room	\$8,400	\$5,100
Food	\$5,900	\$2,340
Personal	\$1,876	\$1,876
Transportation	\$900	\$900
Total	\$43,918	\$37,058

Cost of Attendance*

New Undergraduate - Per Semester	On Campus	Off Campus
Tuition (12-18 Credits)	\$11,995	\$11,995
Fees (Orientation, Success, Technology, Health & Student Activity)	\$1,030	\$1,030
Books	\$396	\$396
Room	\$4,200	\$2,550
Food	\$2,950	\$1,170
Personal	\$938	\$938
Transportation	\$450	\$450
Total	\$21,959	\$18,529

Cost of Attendance*

9001 0171110111411100		
Dare to Roar New Undergraduate - Per Year	On Campus	Off Campus
Tuition (12-18 Credits)	\$9,990	\$9,990
Fees (Orientation, Success, Technology, Health & Student Activity)	\$2,060	\$2,060
Books	\$660	\$660
Room	\$8,400	\$5,100
Food	\$5,900	\$2,340
Personal	\$1,876	\$1,876
Transportation	\$900	\$900
Total	\$29,786	\$22,926

^{*}The Cost of Attendance budget is based on federal guidelines and is used to determine financial aid eligibility; and is a representation of estimated average cost.

^{**}Returning students do not have to pay an Orientation fee, only a Student Activity, Success, Health, and Technology fee of \$780 a semester or \$1,560 a year.

Specific Course Fees	Course	Fee per Semester
	ART-100; ART-200;	
Art Studio	ART-221; ART-223;	\$45
	ART-226: ART-300	

Assessment Test	ACC-498, ACC-505, ACC-549; COM-498; COM-590; CRM-499; DBA-701; DBA-765; ECO-201; GBA-298; GBA-398; GBA-498; HCA-498; HCM-590; HRA-549; IHT-498; MBA-525; MBA-599; MKT-498; MMM-498; SOC-496; SPB-449	\$50
Assessment Test	HUS-498	\$155
Criminal Justice Command School - Grad Fee	CRM-300; CRJ-500	\$65
Laboratory	BIO-100; BIO-125; BIO-125L; BIO-126L; BIO-200; BIO-223L; BIO-300; BIO-311L; BIO-312L; BIO-324L; BIO-325L; BIO-327L; BIO-328L; BIO-330L; BIO-400; BIO-425L; BIO-429; BIO-430L; BIO-498; CHE-123L; CHE-124L; CHE- 311L; CHE-312L; PHY-221L; PHY- 222L	\$65
Private Music Instruction	MUS-120; MUS-220; MUS-320; MUS-420	\$300
Proctor Fee	Proctoring Placement Exams	\$35

2021-2022 tuition and fees are effective as of October 2020.